Dr. Bryan Carrillo Knowledge Checks

Chapter 4.2
1. Identify the amplitude, fundamental period and phase shift of the following functions

f(x) = —sin(rx 4+ 3) — 1.
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2. Take f to be a function with fundamental period equal to 1 and take g to be given by

g(x) =Tz + 7.

Determine the fundamental period of f o g.
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3. Graph the following function and identify the fundamental period, amplitude, domain and range.

f(x) = —sin(rx 4+ 3) — 1.
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4. Calculate the following.

a) cot (%) b) csc(f) given that sin(f) = —5
Cohmseh‘\' i the reciperocal of CoSecant i5 the reciprocal of
+angent. Sine.
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C) arccos (—\/75) d) arcsin <—*/7§>
arceosine i the inverse of arcsine is +he inverse of
cos | )
Co,m Sin l[—‘%. ] |
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5. Calculate the following.
a) arccos (COS (57”)) b) arcsin (sm (31))
arccos (cos(0)) =6 ar¢ sm(Sm(O)) a
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w *"
n /)l\ ° w wd\\ o M= %— w
N N e
q
™ 2" v
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50 arcsin(Sin( }ff ))s arcsin (sin( | )) = T-"T
c) arctan (tan (%)) d) sin (arctan (2))
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So arctan (%) 1S the angle in (0, ) se
thet +angent at that angle equals 3
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6. Solve the following equations.
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a) cos(z) = —? on [0, 27)
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S0 Solution set is

b) 5sin(z) — 3 =0onR

§5in(X)-2 =0
55 'mbl)-’-’g'
$in (O =3
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Since Sine 15 2T periodic,
Solution Se¥ is

{%+11\'K1 K an 'm%egu'}\.) {é-g-l' 27K K an'm*eaet—g

c) cos?(#) +3cos(f) —1=0onR d) tan(z) — 2 =0onR
2 2
Set W= cos(B) so W=cos (0).- tand-3=0
The equotion can be rewrittea as Fan(0) = 3:;_
X= arci'an(%

wW+duw-1=o0.

Solve this @uadratic e uotion:
w+3u-1=0
(wo- %)3__.&5 30

(us2Y- 3
2 u+ %: 2 or ux
u=% or ucz-2
Gos(0)=3 Cos(6)=-2

2_-2
C 3

Sinte hnsgn" i5 T periodic )
Solution Se+ i5 {archn(%)-rﬂkf K anintegc e §

=2 Solution set is {% +2rk: K m‘m*'S‘%U {%"f 2wk K an '»ﬁegefz

e) cos(z)=—-1.1

Range of cosine is L 1],

So +his equation has no Solution -
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7. A point (2, —2) on the unit circle corresponds to an angle 6 in quadrant III. Calculate

sin(f), cos(f), tan(f), csc(f), cot(h), and sec(h).

Sin(6)="- -§- csc (0= -%

cs(0)= "5 5ec(0)= "%

\\ tan (9= % cot(0)= 7

- =

P is on the unit Circle, so
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